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BAL BHARATI PUBLIC SCHOOL
GANGA RAM HOSPITAL MARG
NEW DELHI

CLASS-V CYCLE: FIRST
SUBJECT: MATHS ASSIGNMENT NO 4
TOPIC: MULTIPLICATION

Q1. Fill in the blanks :

(i) 1416 x 215= x 1416
(i) 4762 x = 4762

(i) 986 x 54 x 361x =0

(iv) 241 x 10000 =

(v) 76656 x 10 =

(vi) 9860 x =0

(Vii) 9645 x 1x 100 =

Q2. Multiply :

(i)  6742x95
(i) 54639 x 265
(iii) 1772 x 2789
(iv)76549 x 276
(v)7629 x 406

Q 3. Find the continued product and write the result in words:
764 X 56 X 211

Q4. The cost of a television set is Rs 95,042. Find the cost of such 76 television
sets.

Q5. A bag of rice weighs 156 kg .Find the weight of 1275 bags of rice.

Q6. A man bought 742 almirahs. The price of an almirah was Rs 996 He paid
Rs. 160000 to the shopkeeper. How much more has he to pay ?
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Q7. A bus can carry 62 passengers in a trip. How many passengers will it carry in
one year if it makes 5 round trips everyday ?
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